Chapter One

Economics

Introduction

Economics, which is universally acknowledged to have fallen under the category of social
science, seeks to analyze and describe the production, distribution, and consumption of wealth.
The major divisions of economics include microeconomics, which deals with the behavior of
individual consumers, business companies, and farmers, and macroeconomics, which focuses on
aggregates such as the level of income in an economy, the volume of total employment, and the
flow of investment.

Also, it embodies a broad spectrum of human economic activity, public finance, money
supply and banking, international trade, industrial organization, the factors responsible for self-
sustaining economic growth, etc. Therefore, the study of economics paves the way to further

probing into more specified subjects in business.

Teaching Goals
This chapter deals with economy-related issues. Through reading and practice, students will
have a clear mind about the basic concepts of some frequently used economic terms. Besides, they
are required to explore answers to the following questions:What is economics? What is the scope
of economics? What is the diversity of economics? Further more, students can make a detailed
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study about the fields of economics.

Teaching Contents
® The Concept of Economics

® Microeconomics and Macroeconomics

® The Income-Expenditure Model

® How a market Solves the Three Economic Problems

® The Governor of the Market

Key Words and Expressions
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Lesson One

The Concept of Economics

Pre-reading Questions
1. If you major in economics, what are the basic questions you want to ask?

2. Can you offer some examples of scarcity?

Helen collapsed on her sofa after a very busy day. As she reviewed the day’s events,
questions kept popping into her head. That morning, she accepted one of the five job offers she
received after graduating from college. She wondered why she was so lucky: Just two years
earlier, the unemployment rate was much higher and most graduates were lucky to get even one
job offer.

Why does the unemployment rate vary from year to year?

Helen’s starting salary was about 80% higher than the salary of the typical high-school
graduate and about 10 times higher than the salary in the typical developing nation. She wondered
why her salary was so high.

Why do college graduates earn so much more than high-school graduates? Why do workers in
the United States earn so much more than workers in developing nations?

Helen bought a three-month-old car with just 4,000 miles on it, paying about $6,000 less
than she would for an otherwise identical new car. It seemed too good to be true. As she drove off
the lot, she remembered her friend’s warning that used cars are “lemons” and wondered if she’d
made a mistake.

Why do so many used cars turn out to be lemons?

Helen was surprised at how easy it was to get a loan from a local bank to pay for her car, and
she wondered about how the financial system works.

Where did the bank get the money for her auto loan?

On the way home, Helen stopped to vote in a congressional election. The biggest issue in the
campaign was the size of government: One candidate promised to cut down on government
structure ; while the other promised to develop some new government programs. Helen wondered
which candidate was right.
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What is the role of government, and is it too large or too small?

As you see from this story, economics is all around us. Our everyday experiences in the
economy— as buyers, sellers, workers, and citizens— lead us to question about the state of the
national economy, about how markets operate, and about the role of government.

What is economics?

Economics is the study of the choices made by people who are faced with scarcity. Scarcity is
a situation in which resources are limited and can be used in different ways, so we must sacrifice
one thing for another. Here are some examples of scarcity.

You have a limited amount of time today. If you read this book for an hour, you would have
one hour less to spend on other activities, such as studying for other courses, reading the
newspaper, or exercising.

A city has a limited amount of land. If the city uses an acre of land to build a park, there is
one acre less for apartments, office buildings, or factories.

A nation has a limited number of people, so if it forms an army, it has fewer people to serve
as teachers, doctors, and clerks.

Because of scarcity, people must make difficult choices: You must decide how to spend your
time; the city must decide how to use its land; and a nation must decide how to divide its people
between military and civilian pursuits.

Wherever we look, we are surrounded by economic concerns. The pervasiveness of choice in
the face of scarcity is reflected in the definition of economics offered by the famous economist
Alfred Marshall (1842 —1924 ) .*Economics is the study of mankind in the everyday business of
life. ”

Each person is faced with dozens of decisions, including what goods to buy, what occupation
to pursue, how many hours to work, and how much money to save. A firm must decide what
goods to produce and how to produce them. A government must choose a set of public programs
and then decide how to raise money to support the programs. Together, the choices made by

individuals, firms, and governments determine society’s choices and answer three basic questions.

What goods and services do we produce?

To decide how much of each good to produce, we face some important trade-offs. For
example, if we devote more resources to medical care, we have fewer resources for education and
consumer goods. If we increase the number of people working in factories, we have fewer people

to work on farms and in the classroom.

How do we produce these goods and services?

We must decide how to use our resources to produce what we desire. For example, should
we produce electricity with oil, solar power, or nuclear power? Should we teach college students
in large lectures or in small sections? Should we produce food on large corporate farms or on small
family farms?
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Who consumes the goods and services that are produced?

We must decide how the products of society are distributed among people in our society. If

some people earn more money than others, should they consume more goods? How much money

should we take from the rich and give to the poor?

L.

Notes

Helen bought a three-month-old car with just 4,000 miles on it, paying about $6,000 less
than she would for an otherwise identical new car.
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This system is identical to the one used in France.
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. The biggest issue in the campaign was the size of government;One candidate promised to cut

down on government structure; while the other promised to develop some new government
programs.
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Unemployment is not the issue — the real problem is the decline in public morality.
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. Economics is the study of the choices made by people who are faced with scarcity.
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. Scarcity is a situation in which resources are limited and can be used in different ways, so we

must sacrifice one thing for another.
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It’s not worth sacrificing your health for your career.
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. The pervasiveness of choice in the face of scarcity is reflected in the definition of economics

offered by the famous economist Alfred Marshall (1842 —1924 ) . “ Economics is the study of
mankind in the everyday business of life. ”
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. To decide how much of each good to produce, we face some important trade-offs. For
example, if we devote more resources to medical care, we have fewer resources for education
and consumer goods.
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There has to be a trade-off between quality and quantity if we want to keep prices low.
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Reviewing Practice

. Check your comprehension: Decide if the sentences are true or false. Write T or F before

each sentence. Compare your answer with your pair’s.

1. Everyone is surrounded by economics.

2. Economics is the study of how individuals and societies choose to use the scarce resources
that nature and previous generations have provided.

3. Because of scarcity, you have to spend all your time on studying.

4. Each person is faced with a lot of difficult decisions, and individual choices determine
society’s choices.

5. The three basic questions common to all societies are;what, how and for whom to produce.

. Familiarize yourself with the following key terms:
. Choose the statement that defines one of the business terms given below :

loan resource supplier purchase distribute interest

1. to separate something into parts and gives a share to each person or thing
2. to obtain in exchange for money or its equivalent

3. a sum of money lent at interest

4. an available supply that can be drawn on when needed

5. a charge for a loan, usually a percentage of the amount loaned

6. a person or organization that provides necessary goods or services

. Match the English expressions with the following Chinese terms:
1. Jedh % 2. SRS 3R 4.
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5. R0l 6. HE%¢ 7. BT R 8. ZHEHE
financial affairs auto loan civilian pursuits raise money
unemployment rate  medical care economic concerns military pursuits

III. Vocabulary practice: Fill in the blanks with the proper words or expressions you have
learned from the text given below to finish the following sentences.
exchange vary campaign purchase
issue resources distribute economic
1. A market economy is an economic system in which prices determine how resources will be

used and how products will be

2. Our university offers us many subjects from accounting to biology.

3. Our growth was 7.8% last year.

4. During the crisis, the ___ power is very weak.

5. The global phenomenon of “brain drain” is deskilling the human in Third
World countries.

6. For most countries, to export labors is a way to accumulate foreign

7. The company has launched its annual Spring Festival to promote sales of their

products.

8. I just got a raise, so money’s not an

IV. Translation.

1. Human have many different types of wants and needs. Economics looks only at man’s
material wants and needs. These are satisfied by consuming commodities — either goods
(physical items such as food) or services (non-physical items such as heating ).

2. The three basic questions common to all societies are; what, how and for whom to
produce. The first two questions represent problems of production while the third is a
problem of distribution.

3. Human wants and needs are virtually unlimited, unfortunately, on the other side, people
find themselves in a situation of scarcity.

4. Perhaps the oldest question in economics is why some countries are rich while others are
poor. There is little doubt that in many developing countries highly educated workers are

scarce.

V. Oral practice: Discuss the following two questions with your group members in English.
1. How would you define economics? Please list the economic phenomena in your life.
2. Why do people have to make difficult choices economically? Can you explain it with your

own experience?



Lesson Two

Microeconomics and
Macroeconomics

Pre-reading Questions
1. What is your interpretation of the two special terms:macroeconomics and microeconomics?
2. Can you tell your partner the major objectives of both macroeconomics and

microeconomics?

Economics has deep roots in, and close ties to, social philosophy. An issue of great
importance to philosophers, for example, is distributional justice. Why are some people rich and
others poor, and whatever the answer, is this fair? A number of nineteenth-century social
philosophers wrestled with these questions, and out of their musings economics and separate
discipline were born.

Now let’s explore briefly the way economics is organized. First of all, there are two major
divisions of microeconomics and macroeconomics.

Adam Smith is usually considered the founder of the field of microeconomics, the branch of
economics which today is concerned with the behavior of individual entities such as markets,
firms, and households. In The Wealth of Nations, Smith considered how individual prices are set,
studied the determination of prices of land, labor, and capital, and inquired into the strengths and
weaknesses of the market mechanism. Most importantly, he identified the remarkable efficiency
properties of markets and saw that economic benefit comes from the self-interested actions of
individuals. All these are still important issues today. The study of microeconomics has surely
advanced greatly since Smith’s day, yet he is still cited by politicians and economics alike.

The other major branch of our subject is macroeconomics, which is concerned with the
overall performance of the economy. Macroeconomics did not even exist in its modern form until
1935, when John Maynard Keynes published his revolutionary General Theory of Employment ,
Interest and Money. At the time, England and the United States were still stuck in the Great
Depression of the 1930s, and over-quarter of the American labor force was unemployed. In his
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new theory Keynes developed an analysis of what causes unemployment and economic downturns,
how investment and consumption are determined, how central banks manage money and interest
rates, and why some nations thrive while others stagnate. Keynes also argued that governments
had an important role in smoothing out the ups and downs of business cycles. Although
macroeconomics has progressed far since his first insights, the issues addressed by Keynes still
define the study of macroeconomics today.

The two branches — microeconomics and macroeconomics — converge to form modern
economics. At one time the boundary between the two areas was quite distinct; more recently, the
two sub-disciplines have merged as economists have applied the tools of microeconomics to such
topics as unemployment and inflation.

In macroeconomics we study the economy as a whole; in microeconomics we look at
individual markets. The distinction is important. In microeconomics we might examine the effects
of an increase in the price of tomatoes. We can apply the Law of Demand which tells us that —
all other things remaining the same — the quantity of tomatoes that people will purchase will go
down when the price goes up. We can introduce the concept of price elasticity of demand and
attempt to measure how large or small an effect the price increase will have on the quantity
purchased. In macroeconomics we might examine the effects of inflation — all prices going up at
once. Obviously, the outcome will be quite different.

We would need to make the same type of distinction if we were studying labor markets. If the
wages of a particular type of labor — short-order cooks, for example — were to increase we could
predict that employers would find ways to get by with fewer hours of that type of labor. That is
microeconomics. But if wages were to increase across the entire economy, prediction would be
much more complicated. When we just study the wages of short-order cooks, we can ignore the
effect that their extra earnings will have on their demand for goods and services since they make up
a small proportion of the workforce. But when all wages go up, the effect on overall demand is
too large to ignore — so we will have to apply the theories of macroeconomics.

In short, microeconomics is the economics of one thing at a time and macroeconomics is the

economics of everything at once.

Notes

1. First of all, there are two major divisions of microeconomics and macroeconomics.
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2. Adam Smith is usually considered the founder of the field of microeconomics, the branch of
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economics which today is concerned with the behavior of individual entities such as markets,
firms, and households.
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Mathematics is concerned essentially with understanding abstract concepts.
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. In The Wealth of Nations, Smith considered how individual prices are set, studied the
determination of prices of land, labor, and capital, and inquired into the strengths and
weaknesses of the market mechanism.
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. Macroeconomics did not even exist in its modern form until 1935, when John Maynard Keynes
published his revolutionary General Theory of Employment, Interest and Money.
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. In his new theory Keynes developed an analysis of what causes unemployment and economic

downturns, how investment and consumption are determined, how central banks manage
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money and interest rates, and why some nations thrive while others stagnate.
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A business cannot thrive without good management.
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. At the time, England and the United States were still stuck in the Great Depression of the
1930s, and over-quarter of the American labor force was unemployed.
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. Keynes also argued that governments had an important role in smoothing out the ups and downs
of business cycles.
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They smoothed out the map on the table and planned their route.
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We have our ups and downs like all couples.
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. At one time the boundary between the two areas was quite distinct; more recently, the two sub-
disciplines have merged as economists have applied the tools of microeconomics to such topics
as unemployment and inflation.
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. If the wages of a particular type of labor — short-order cooks, for example — were to increase
we could predict that employers would finds ways to get by with fewer hours of that type of
labor.
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How can he get by on such low wages?
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Reviewing Practice

I. Check your comprehension: Decide if the sentences are true or false. Write T or F before
each sentence. Compare your answer with your pair’s.
1. Adam Smith, the “father of modern economics”
Wealth of Nations.

2. Microeconomics and macroeconomics are the two vantage points from which the economy is

, was the author of the famous book: The

observed.

3. John Maynard Keynes is usually considered as the founder of the field of Microeconomics.

4. Macroeconomics examines the functioning of individual industries and the behavior of
individual decision-making units; microeconomics examines the behavior of a country’s
economy as a whole.

5. When microeconomics focuses on individual product prices and relative prices,
macroeconomics looks at the overall price level and how quickly (or slowly) it is rising
(or falling).

6. The boundary between the two areas — microeconomics and macroeconomics — was quite

distinct. Therefore the two sub-disciplines can’t be merged.

II. Familiarize yourself with the following key terms: Choose the statement that defines one of
the business terms given below.
revolutionary inflation consumption workforce household macroeconomic
. usage
. all persons (family, lodgers, etc. )
. the study of financial systems at a national level
. the rise in prices

. labor force

AN B W N =

. active for change

III. Make sentences using the following words or patterns.
. be concerned with. . .

thrive

. determine

. inquire into. . .

R Y R S

. get by

IV. Translation.
1. Economics has deep roots in, and close ties to, social philosophy.
2. Macroeconomics is concerned with the overall performance of the economy, and
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microeconomics is concerned with the behavior of individual entities such as markets,

firms, and households.
In macroeconomics we study the economy as a whole; in microeconomics we look at

individual markets.
4. FA1F T BRI T BRI R P TFE — A E RN
5. ZUFFIEEEAER TZ SRS AR Y AT AL
S ROMZ T 2R 2 WA AL A IR R L BB TSR 2R R

V. Oral practice: Discuss the following questions with your group members in English.

1. Can you tell us what the difference between microeconomics and macroeconomics is?

2. Explain the following terms to your partner in your own words.
Law of Demand Great Depression elasticity of demand unemployment



Lesson Three

The Income-Expenditure
Model

Pre-reading Questions
1. Can you give some examples of how output adjusts to demand?

2. What does equilibrium mean in economics?

Macroeconomic Equilibrium

We’'re making a model of the entire national economy, or macro economy. We base it on the
following idea:if total output exceeds what people want to buy, there will be stuff left over —
which means that inventories of unsold goods will rise. On the other hand if people want to buy
more than is produced during some period, what will happen is that previously accumulated
inventories of goods will fall.

Think about a shoe store. It has a certain amount of inventory that it wants to keep on hand at
all times so as to be able to meet normal customer demand. If customers buy shoes at a slower rate
than it gets new shipments from the manufacturers, inventory will rise. If on the other hand
customers buy shoes at a more rapid pace than it gets shipments from the factory, inventory falls.
Think about the entire economy this way and you understand how we think output adjusts to
demand.

Equilibrium just means a position of stability. If inventories are rising, we are not in
equilibrium because too many goods are being made, and sooner or later factories are going to
have to cut production because the current level of output is not sustainable. If inventories are
falling, we are not in equilibrium because too few goods are being made, and sooner or later
factories are going to have to increase production. In other words macro equilibrium is when total
output is equal to total desired expenditures. We believe that the national economy will move
toward such macro equilibrium on its own.

When we set up our macro framework, we said that C + I + G = Y (consumption +
investment + government purchase = Income)
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In other words the three components of demand equal output. So does this mean we’re always

in macro equilibrium? No. The key here is I, or capital investment. “I” includes accumulation of
inventory, whether firms want it or not. In other words, in order to make our national income
accounting framework hang together, we just assigned any unsold output to I — it’s like saying to
a firm.if you made it and didn’t sell it, you bought it. In other words for the purpose of making
our accounting framework add up, inventory change is a sort of shock absorber that makes demand
equal to output.

So let’s distinguish between “planned investment,” or Ip, and total investment, which is Ip
plus unintended inventory changes. So while C + I + G = Y is alwaystrue, C + Ip + G =Y
is only true when we are in macro equilibrium. In other words, since we said I = Ip +
unplanned inventory change, we have macro equilibrium only when unplanned inventory change

= 0 which is what we said above.

Aggregate Supply and Aggregate Demand

Let’s repeat our macro equilibrium condition C + Ip + G = Y.

And read it this way:we have macro equilibrium when people want to buy all the goods that
firms produce. The income-expenditure model therefore zeroes in on the problem that firms face in
a modern capitalist economy of figuring out how much to make and offer for sale in any given
period. Because production and transport of goods takes a lot of time, a firm may have to predict
consumer demand for its output a year or more in advance.

In the income-expenditure model, total output responds to the demand for it. In other words,
aggregate supply is driven by aggregate demand. ( Not all models work like this. ) That means
that to figure out what the equilibrium level of output is, we have to figure out how much demand
there is. That means that we have to know what determines the levels of C, Ip, and G.

In this particular model, the answers for the last two are easy. We will assume they are fixed
and unchanging. We will assume that businesses make plans about how much capital equipment
they want to acquire, and do not change those plans. We will assume that G is set through some
political process. We will similarly assume that T(tax) is fixed. In financier language, G, Ip,
and T are “exogenous” to this model.

That leaves C, which is at the center of this model. What determines how much consumers
spend ? Well , their income, Y. But we’ve just said that Y is partly determined by C, since C is an
element of demand. So C affects Y and Y affects C.

Notes

1. We base it on the following idea if total output exceeds what people want to buy, there will be
stuff left over — which means that inventories of unsold goods will rise.
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He was fined for exceeding the speed limit.
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. If inventories are rising, we are not in equilibrium because too many goods are being made,
and sooner or later factories are going to have to cut production because the current level of
output is not sustainable. If inventories are falling, we are not in equilibrium because too few
goods are being made, and sooner or later factories are going to have to increase production.
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More and more people pay attention to the sustainable economic growth.
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.C +1+ G =Y (consumption + investment + government purchase = Income)
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. So let’s distinguish between “planned investment,” or Ip, and total investment, which is Ip
plus unintended inventory changes.
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It's important to distinguish between tax avoidance and tax evasion.
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. The income-expenditure model therefore zeroes in on the problem that firms face in a modern
capitalist economy of figuring out how much to make and offer for sale in any given period.
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Hayley zeroed in on the toys the minute she saw them.
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. That means that to figure out what the equilibrium level of output is, we have to figure out how
much demand there is.
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I can’t figure that man out. He puzzled me.
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